- - 380 S —
- S 40 L 360 81 2, 2
- e 90 136 13, 509 4
- . 778 — s 30 —5 Sas 215
— 108 200 . 403 — 215
Ly L S —+- —
0 , 302 e L I — 95
215 o
FU—
—
| I —
| p— S m—
I AN
[ _:I/—|_— *—_/D /‘;k:‘::: \\/ « —
/\
[ T | Chambre 1 ESC 02 -E1 RN & chambre 1 — =
ambre — ~— 13.10 m? Séjour - cuisine
11.29 m? 281 0 60 Séjour - cuisine 22.61 m2
b & 2
c 20 36.48 m L %0 P2 - 55.74 m?
] 166~ \ ] L n =/
_ 2 - ~—355 120 320 20 530 o / =12/ P
p < 2/ \ S i
g Chambre2 &/ 8 ‘ N S P2 -54.22 m?
13.49 m? - ~
\ 3 o -
\ e < ASC HALIL 02 E1[ & 15 8
Chambre 1 |~ 8 PLUS 5
14.64 m? S ] TD
2 \ — ‘ g [=) —
“’ oy REERER m : -
/ o) i a—
‘: . = g - [ K
4 2 L]
L P + + N
; — - =
7, PENN I &
8) t = E o [l
= 2 re N PRI
%O MC 29 2
| . c | Comptelrs °
= : ;
! &
1TTITTTI TR | s e o oy s o ol e A
~ COULOIR |02 - E1
S
T O O
M= =
[ i NG
] 728 98
20 — N B
©
PLUS m Séjour - cuisine D § PLUS 3
Séjour - cuisine 38.18 m? . .
g +|  Séjour - cuisine
2
45.34 m E E 31.04 m?
P3 -76.33 m? P3 -76.76 m* 4 P3 -71.01 m? —
M~ ~1 1 -
523
> i 19 18 g —
] \ ‘J/ \ o Senior PLAI =
i 1 ‘ T 5 PLAI 450 & 7l|/ ~ -~ —
. S & N
o 546 ~ 1 =~ 1 | 1 | 366/ |
\ 7 N / i T i &
\ Chambre 2 £ % | \V/ & o] \‘J/ | (E— \ i i ”
|\ 10.78 m? ) ) T — 9 |
'1I'§r1r::;sse2 _ \\ ! ; - ‘ : 3 Chambre 1 ]
B m (o)} RN ~ I L 2
& N 12.69 m
" g Terrasse 0 2 Terrasse Chambre 1 " Chambre 2 T:rrass:: §
=l = & 6.22 m? e = 5.83 m? 12.56 m* ~ g 14.26 m? A ot
LR 377 354 a ! o
| \
i . . — —
o
N N N
+ 576 R
. 360 . . 127 . 90 3, 360 s . 320 14, , 44 , 9 | 177 L, 90 | 9714, 340
' 215 T T 215 N 215 ' N 215 T T215 215 o 215
b 377 I 354 4 N 380 X

BATIMENT 2
PLAN DU 1er NIVEAU - Echelle : 1/100°




	BAT 2 R+1 100 --_118

